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8�9� 8:;<=� >?@A?=B? C;:=DEF;G:C<F=D <= H;FFED FE <;;:C<F=:I<CJ FE DFG? EA=K:�
G?=C:I BF=DC:=CD� 9;?H;<=C FE CL? M?IKJDL N=DC<CAC? FE OHHI<?K P:CL?G:C<BD FE
QO>+ PFDBFR+ �,���

S;:=DEF;G:C<F= FE =AGT?; D?@A?=B?D .BF=U?;V?=B? :BB?I?;:C<F=/ <D F=? FE CL?
BI:DD<B:I BL:HC?;D FE =AG?;<B:I :=:IJD<D� SL?D? :IVF;<CLGD :;? AD?K TFCL EF; DFIAC<F=
FE H;:BC<B:I H;FTI?GD :=K EF; CL? K?U?IFHG?=C FE GF;? :KU:=B?K =AG?;<B:I G?CLFKD�
OC CL? D:G? C<G?+ =AG?;<B:I G?CLFKD L:U? EFA=K =AG?;FAD :HHI<B:C<F=D <= CL?
=AGT?; CL?F;J� W=? FE CL? BI:DD<B:I H;FTI?GD FE =AGT?; CL?F;J <D CL? H;FFE FE
<;;:C<F=:I<CJ FE DFG? EA=K:G?=C:I BF=DC:=CD+ RL?;? CL? L<VL ;:C? FE BF=U?;V?=B?
FE D?@A?=B?D FE ;:C<F=:I =AGT?;D HI:JD : B;AB<:I ;FI?� XFR?U?;+ :D E:; :D R? Y=FR+
CL? :HHI<B:C<F=D FE .BI:DD<B:I/ BF=U?;V?=B? :BB?I?;:C<F= :IVF;<CLGD CF CL? H;FFED
FE <;;:C<F=:I<CJ KF =FC ?Z<DC� SL<D DCAKJ <D := :CC?GHC CF [II CL<D V:H :=K CF K;:R
:CC?=C<F= CF CL<D K<;?BC<F= FE ;?D?:;BL�
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q1
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p2
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, . . . ,
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qn
, . . . ,
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 7�
 ��������
��������� �$��� ������+ ���� pn/qn →
B+ n→ ∞� �#��� ��������
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p2 − p1
q2 − q1

,
p3 − p2
q3 − q2

, . . . ,
pn+1 − pn
qn+1 − qn

, . . . ,

0��0���0 #�!�
36�� .����
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36��/� �̀1�
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�
��!� ��������+ �� � ���� �
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s(n) =
n∑

k=0

1

k!
=

{
1, 2,

5

2
,
8

3
,
65

24
,
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60
,
1957

720
,
685
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,
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40320
,
98641

36288
, . . .

}
, .
/
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0 ����$���0 � -���# e+ �� ��0 ������� �������� b�#�
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1, 2,
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2
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6
,
65
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,
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,
1957

720
,
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, . . .

}
,
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1−
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��
���!$� �������
$�+
�
���$��+ -���!$ �����
�� 2�
 ����� �$��� ���

e =
2

1−
1

4−
9

43−
16

13−
63

293−
442

139−
1925

1886− . . .

� �������0 ����� �!����� ����!�#6���
%� ������ ����� ��
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0
����� �!���� ����06
0�0 ����� �� #���������0�� 7��$# �������3�

� ����� ��6�$ ���� �������� j�4
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 �������� �
� �����$
 `�� � .�$�
c�	+ H� ���d/ � "��$#���#���0 ����#36�$ ���
��$�

�#��� ��� -
���!� -�������� an � ��
$��
���� bn �  ����� �����

C = b0 +
∞
K
n=1

an
bn

0��03��0  ��!$� -���
$�� % �#��� �
-��
0 � ��������1� ������
 n⎧⎨
⎩ bn ≥ |an| > 0, an+1 > 0
bn ≥ |an|+ 1, an+1 < 0.
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  ���
0 ����� �������0t � -���� C ���
 ���
����� u
 ����3-����$
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-��
0 � ��������1� ������
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an < 0, bn = |an|+ 1.
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�������0+ ���� C �
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8− . . . =
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��� � ��� �
�������
���� �����
�#��+ 
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 ��!-�� �!���0� � #-�����
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+ ����

an =
n∑

m=0

C(n,m) (−1)m bm, bn =
n∑

m=0

C(n,m) (−1)m am,

1��C(n,m) ^ 7�� ����$�
���!� ��7""� ����� % �#���A(x) �B(x) 0��03��0
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A(x) =
∞∑
n=0

an x
n, B(x) =

∞∑
n=0

bn x
n,
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A(x) =
1

1− x
B

( −x
1− x
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, .m/
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∞∑
n=0

(−1)n an =
∞∑
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bn
2n+1

,
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���������� {an} � {bn}+
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∞∑
n=0

an =
∞∑
n=0

1

(1 + p)n+1

n∑
m=0

C(n,m) pm+1 am. .n/

*
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π

4
=

∞∑
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(−1)n

2n+ 1
=

∞∑
n=0

p F ([1/2,−n], [3/2], p)
(p+ 1)n+1 ,
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 ������
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π
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=

∞∑
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s(n) =
n∑
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n∑
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1

(1 + p)k+1

k∑
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C(k, j) pj+1 aj .
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V (n, 0) = s(n),

V (n, k + 1) =
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p+ 1
k ≥ 0.
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V (−1, n+ 1) = e(n), n ∈ N0.
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R(n, 0) = s(n),

R(n, k) =
t(n+ k)R(n, k − 1)− t(n)R(n+ 1, k − 1)

t(n+ k)− t(n)
, k > 0.
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∣∣∣∣∣
π
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− R(0, 10)

∣∣∣∣∣ < 0.4× 10−10.
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��$������#� �̀1�
 ���#-�$

|γ −R(1, 10)| < 0.41× 10−15, .p/

1�� -�������� � ��
$��
���� -���
 R(1, 10) �����0� �� n�  �"��

̀�#3 4� ��-����� 
�������$
 �� $�4�� ���#-��� � ��
�
36�� 
��"�

$����� ��0 �������� ��������
��������� H(n) − lnn ���+ -�� �#-'�+ ��0
H(n)− ln(n+ 1/2)�

&���� (�-
�����
+ �������$�$#+ �
�4� �� $�4�� ����#$$����
�� ��3�
�# �
����06���0 
��$�����-����� �0�+ ���0 ����1�� ���
�
�������� 7��1�+
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��$����$ ��
 $����
 ������
���
��0 ��������
����������+ �����!�+ �
��������$ �$!���+ ������03� ��#1 ��#1
�

&���� 2����
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������
 .�$� c�m+ H� ��od/ �#$$����
��0 �0��� ����$

7""������� � -�������$ 
�
����+ ���0 �� ��������� .����6� 1����0/ ����0�
6���0 �0�! � �
����06���0 
��$�����-������ *
���$��+

H(n)− lnn = γ −
∞∑
k=1

B(k)

k nk
, n ∈ N, .�,/

1�� B(n) ^ 7�� -���
 b���#���+ � �
������� ����#�� ����$
�� � 
��$������
-����$ �$!����

)�
��1�-�!� "��$#�! �!�
4
3� ��
-���0 ζ(n)+ n = 2, 3, . . .+ � ����

��$�����-����� �
���4���� ����1
$$
 "#�� �� .�$� c�nd/�

(
����06���0 
��$�����-����� �0�!+ ���#-���!� � ��$�6�3 "��$#�!
2����
^&
������
+ $�1#� �!�� ����
����! �
 �����-�#3 �����
����# �
������
���
�! � ����06���0 .�$� ��4�/�

*
��$��$+ -�� -���
 g������1
 �����1� � �����1� ���
+ S1(n,m)+ S2(n,m)+
�������03��0 ����#36�$� ��4�����
$�

(x)n =
n∑

m=0

(−1)n+m S1(n,m) xm, xn =
n∑

m=0

(−1)n+m S2(n,m) (x)m, .��/

1��

(x)n =
Γ(x+ n)

Γ(x)
=

n−1∏
k=0

(x+ k), n ∈ N0,
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��������� {an} � {bn}+ n ∈ N0+ 0��03��0 #�
����������(

	�� )�������� ��#1 ��#1
+ ����

an =
n∑

m=0

S2(n,m) (−1)n+m bm, bn =
n∑

m=0

S1(n,m) (−1)n+m am.

�̀1�
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������� ��4������

∞∑
n=0

an
xn

=
∞∑
n=0

bn
(1 + x)n

, .��/

������� ����#�� ����$
�� � 
��$�����-����$ �$!���+ ���� ��� -
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���4���� � ��
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����06���0 
��$�����-��
���� �0� ����
 � .��/ � .����6� 1����0/ ����06���0 �0� � ��������� ���#�
��������� R < Re(x)+ 0 ≤ R < ∞ .�$� c�od+ c�pd/� 
̀��$ ���
��$+ "��$#�

.��/ 0��0���0+ � ��������$ ����+ 
������
����� ������ $�$����� g�������
+
�����
0 �������!�
�� ������
���
��� 
��$�����-����� �0��� � ����06���0
 ���!� ����� � �
��^
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 �� .�$� c�,d/�

(0� ���$���� �#$$����
��0 �
����06���0 �0��� � ��$�6�3 "
������

����1� ������
���
��0 .��/ $�4�� �
��� � c�nd� �������$ ���$�� ��0 ����
��
��! 2����
^a�$���� 
� )��$�����-����� �0� ��0 ��� �$��� ���

∫ ∞
0

x exp(−t)
x+ t

dt =
∞∑
n=0

(−1)n n!

xn
. .�	/

2����+ �
� ��������+ ����#$$����
� 7��� �0� � ��$�6�3 ������
���
��0 �
 ���#3 ����� .�$� c��d/�

����$�$ x = 1 � .��/ � .�	/� �̀1�
 ���#-�$

∞∑
n=0

(−1)n n! =
∞∑
n=0

(−1)n

(n+ 1)!

n∑
m=0

S1(n,m)m!. .�
/

�̀���� �#4�� ���
�
��+ -�� �0� ���
�
 � .�
/ �������0+ ���-�$ � ����
��
��� δ� (
��$����$ ����$�1
�����!� �0�

f(z) =
∞∑
n=0

(−z)n
(n+ 1)!

n∑
m=0

S1(n,m)m!, z > 0.

g ��$�6�3 7� ���������  ��!� ��������
���������� c��d ���#-
�$

f(z) =
∫ z

0

dt

1− ln(1− t)
= e (Ei(1, 1)− Ei(1, 1− ln(1− z))). .��/
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��7��$# f(1) = δ� u
$���$ �
�4�+ -�� ��������� ����1�
� $�4�� ���#-���
� ��$�6�3 �
$�� ����$���!� �� ����������0 δ � .�/�

z��$#�
 .��/ 0��0���0 ����"��$#�������� .x → 1/x/ "
�����
����1�
������
���
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��� �
����06���0 
��$�����-����� �0��� � ����
�06���0�

�#��� ��������
��������� {an} � {bn}+ n ∈ N0+ 0��03��0 #�
����������(

	�� ��#� )�������� ��#1 ��#1
+ ���� a0 = b0+ �

an =
n∑

m=1
S2(n− 1, m− 1) (−1)n+m bm, bn =

n∑
m=1

S1(n− 1, m− 1) (−1)n+m am.
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��+ -�� 7�� ������
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� � ��
�� ����!� ������
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������� 
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∞∑
n=0

an
xn

=
∞∑
n=0

bn
(x)n
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� 4�+ �
� � ��4������ .��/+ ���� ��� -
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�$�3� ���� � �� 4� 
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 ��$+ -�� ��� �����
����� x = 1 � �� ��
�#3 -
��� ���#-�$ ����
��������� ��7""� ����! ��������� 7������� �
����� ��������06�� "#���
 �� .�
� �
� (1)n = n!+ n ∈ N0/�

���$���$ "��$#�# .�m/ � 
��$�����-����$# �0�# .�	/ ��0 �����
��!
2����
^a�$���� 
� %$��$ an = (−1)n n!+ n ∈ N0+ �

{bn} = {1,−1, 2,−4, 10,−30, 108,−444, 2112,−11040, 65712, . . .}.
����4�$ x = 1 � .�m/+ ��1�
 ���#-�$

δ =
∞∑
n=0

bn
n!
. .�n/

�̀���� �#4�� ���
�
��+ -�� �0� � .�n/ �������0+ ���-�$ � �����
��� δ� (
��
�$����$ ����$�1
�����!� �0�

f(z) =
∞∑
n=0

bn
n!
zn, z > 0.

g ��$�6�3 7� ���������  ��!� ��������
���������� c��d ���#-
�$

f(z) = 1−
∫ z

0

dt

(1− ln(1− t))2
= e (Ei(1, 1)−Ei(1, 1−ln(1−z)))+ 1− z

1− ln(1− z)
.
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�4� �!����� �����
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��0$ ��4�����
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$#�� .�,/� ��0 7��1� ����� #����� ��0�� ������ ��$����� -���� b���#���+ �
������$ B(1) = 1/2+ 
 �� B(1) = −1/2� *
��$��$+ -�� ����!� ��$�����
-���� b���#��� ^ 7�� ��
-���0 B(n) = Bn(0)+ 
 ������ ^ 7�� ��
-���0
B(n) = Bn(1)+ 1�� Bn(x) ^ 7�� ������$! b���#���� 2�� ��
 ��$�����
 0��
�03��0 ����$�
���!$� ������
���
��0$� ��#1 ��#1
�

�����
��$ n = 1 � .�,/+ ��1�
 ���#-�$ ��4������ .���#-����� 2�����$/

γ =
∞∑
k=1

B(k)

k
. .�o/

��������� �
������� 0��0���0 ����1� ���
 e������$f � ����'� ��������1�

��$�����-����1� ��4�����


ln(x)− ψ(x) =
∞∑
n=1

B(n)

nxn
, x→ +∞,

1�� ψ(x) = (lnΓ(x))′ ^ 7�� ��1
$$
�"#�� �0�
%$��$ an = B(n)/n+ n ∈ N+ �

{bn} =

{
1

2
,
1

12
,
1

12
,
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,
9
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,
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,
1375
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,
33953

720
,
57281

180
, . . .

}
.

����4�$ x = 1 � .�m/+ ��1�
 ���#-�$

γ =
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n=0
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. .�p/

�̀���� �#4�� ���
�
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γ� (
��$����$ ����$�1
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f(z) =
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n=0
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zn, z > 0.

g ��$�6�3 7� ���������  ��!� ��������
���������� c��d ���#-
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f(z) =
∫ z

0

⎛
⎝1
t
+

1

ln(1− t)

⎞
⎠ dt = γ + ln(z) + Ei(1,− ln(1− z)). .�,/
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n∑
m=1

S1(n− 1, m− 1) (−1)m+1B(m)

m
=

1

n

n∑
m=1

S1(n,m)

m+ 1
, n,m ∈ N,

�� ������1� �
����$

B(n) = n
n∑

m=1

S2(n− 1, m− 1) (−1)n+1

m

m∑
k=1

S1(m, k)

k + 1
.
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∞∑
n=0

an
xn

=
∞∑
n=0

cn
(1 + x)n

. .��/

5��
�� ��0 ��������1� �#6����#�� 1��
��� ����� ������� ������
���
���
��#� �������������+ ���� a0 = c0+ �

cn =
n∑

m=1

C(n− 1, m− 1) am, an =
n∑

m=1

C(n− 1, m− 1) (−1)n+m cm,

-�� ��1�� ������0���0�
*
���$��+ ���� ��0�� � .��/ an = (−1)n/(n+ 1)+ � x = 1+ �� ���#-�$

ln 2 = 1−
∞∑
n=1

1

n (n+ 1) 2n
,
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�� "��$#�! �#$$����
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+ � ������� $! �
-
�� 7��� �
��
����

�������$ ���� ����$
 �������� .�� ����� �������#�$��/ ��4������

f(x) =
∞∑
k=0

C

(
x− a

h
, k

) k∑
j=0

(−1)k+j C(k, j) f(a+ j h), .��/

������� ������
��0�� ����� �	� *������+ ��� �#$$# #�	��$ .��� h > 0/+
���� �������$ .��� h < 0/ ����-�!� �
�������� u���� a ^ 7�� ����������!�
��6�������!� �
�
$���� ��� ����-��$ �#$$����
��� ;LD.��/ ^ 7�� ������
���0 ����!� ������$ *�3���
�

��� h→ 0 "��$#�
 .��/ �
�� ��!-�!� �0� �̀����
 � ��-�� x = a�
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� � �
����06���0 
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� *
��$��$+ -��

{eΓ(n, 1)} = {δ, 1, 2, 5, 16, 65, 326, 1957, 13700, 109601, . . .}, n ∈ N0,

���� ��0 f(x) = eΓ(x, 1) ��
-���0 f(x)  ���-������! ��� x ∈ N� ���-�$ ���
�!-���03��0 �� ������� ���#�������� "��$#��+ f(n) = (n− 1) f(n− 1)+1�

̀� �
� f(0) = δ+ �� $�4�� .���!�
���0/ 7����
�������
�� ��
-���0 f(n) �
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���!� -���
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�
��0 7��1� ��
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�
 �����
��$ � .��/ h = 1 .'
1 ��������0 ��/ � a = 1+ 
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f(0) = δ =
∞∑
k=0

C(−1, k)
k∑

j=0

(−1)k+j C(k, j) f(j + 1) =
∞∑
k=0

(−1)k k!,

���� $! ���#-��� ������!� 
��$�����-����� �0� ��0 δ�
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 �
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δ =
∞∑
k=0

C(−2, k)
k∑

j=0

(−1)k+j C(k, j) f(j + 2) =
∞∑
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(−1)k k!,

���� $! ���#-��� 
��$�����-����� �0� ��0 δ+ �����!� ����-
���0 �� ������
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� ��k0��0���0 �-��� ������s

δ =
∫ ∞
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e−t

1 + t
dt =

∫ ∞
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t2e−t

1 + t
dt,
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δ =
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2
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∞∑
k=0
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k∑

j=0

(−1)k+j C(k, j) f(j + 1).
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�$� %� ��� ����#��+ -��
L(k, 1)/(k+ 1) = O(1/k5/4)+ ���� �0� .�	/ �������0+ ���0 � $��������
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���
�����
��! 2����
^a�$���� 
 .�$�+ �
���$��+ c�md/�
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���'���� 7��1� �
����
 �����$�0 � "#�� �� f(x) = eΓ(x, 1) � ��
���#�������� "��$#��� f(n) = (n − 1) f(n − 1) + 1� 2�# ���#���3 ��1��
�
���
�� � ���� ����������1� �������1� ���������1� ������'���0+ ����

f(n+ 1) = (n+ 1) f(n)− (n− 1) f(n− 1), n ∈ N.
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���-����$ �������$+ ������
�#�$ 7�# ���#���3 �  ���#3
������ ���#-
�$ ��4������ .n→ x/

Γ(x+ 1, 1)

Γ(x, 1)
=

x

x+ 2− x+ 1

x+ 3− x + 2

x + 4− x+ 3

x+ 5− Γ(x+ 5, 1)

Γ(x+ 4, 1)

, .�
/

�������+ �-������+ $�4�� ������4��� ���1�
��-����+ � ������� ���
������
�� �� ���� ��$�������� ���������� ��� x = 0+ ILD.�
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/
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&��1�� �������!� �
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�
0 �
��$ ���
��$ �������-�
0  ���
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0 �������0 �� ��
����
$��� ��� Re(x) > 0/ �
�� �
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/+ �� 7�� �� �
��
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/
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 L(n, k) = L1(n, k)/L2(n, k)+ 1��

L1(n, k) =
k∑

j=0

(−1)j C(k, j) (β + n+ j)k−1 s(n+ j)
(β + n+ k)k−1 ω(n+ j)

,

L2(n, k) =
k∑

j=0

(−1)j C(k, j) (β + n+ j)k−1

(β + n+ k)k−1 ω(n+ j)
.
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(β + n + k)k−1 � ��
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���� ����
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���0� 5� �#4�� ��'� ��0 ���$
���
�
 �� �!-������� � ��
�
36�� 
��"$����� � "�������
���� �
��0���� ����
���� ]��� 4� �
��0������ $�4�� #����-��
�� ��� �!-������0 ������0��0
� �
 ���
����� 
��"$�����+ �� �
��!� 
�1����$ $�4�� ��
-������� #����
�����s

L1(n, 0) =
s(n)

(β + n)ω(n)
,

L1(n, k) = (β + n+ k)L1(n+ 1, k − 1)− (β + n)L1(n, k − 1), k > 0

L2(n, 0) =
1

(β + n)ω(n)
,

L2(n, k) = (β + n+ k)L2(n+ 1, k − 1)− (β + n)L2(n, k − 1), k > 0.
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��������� ω(n) � �
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���
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��������� L(k, n) ��� "�������
���$ k � n ∈ N �
3� .����6�
1����0/ ����'�� ������4���0 � ������# ��������
��������� s(n)�

5������� ����������� $����
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�������� 5� $��
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� � ��
������$���!� �
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�����3 �
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������ h��0 7���
�!��� �����
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 �0 $����
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 .�$� co+ pd/� � ��� 4� �����
�
-���0� ��#$���
0 �
��� 
 U(n, k) = U1(n, k)/U2(n, k) �������0 ����#36�$
���
��$

U1(n, k) =
k∑

j=0

(−1)j C(k, j) (β + n+ j + 1)k−1 s(n+ j)
(β + n+ k + 1)k−1 ω(n+ j)

,

U2(n, k) =
k∑

j=0

(−1)j C(k, j) (β + n+ j + 1)k−1

(β + n+ k + 1)k−1 ω(n+ j)
.
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u���� ������� (β+n+k)k−1 � ���� �
$����! �
 ��$���! ��-�
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� �
��!�

�1����$ $�4�� �
�4� ��
-������� #��������s

U1(n, 0) =
s(n)

(β + n)ω(n)
,

U1(n, k + 1) = (β + n+ 2 k + 1)U1(n+ 1, k)− (β + n+ k)U1(n, k), k > 0,

U2(n, 0) =
1

(β + n)ω(n)
,

U2(n, k + 1) = (β + n+ 2 k + 1)U2(n+ 1, k)− (β + n+ k)U2(n, k), k > 0.
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� �!����$ ��0 ��� β = −1 � ω(n) = (−1)n (n+1)!� �̀1�
 ���#-�$ .��
0���$# 
�1����$#/

{U(0, n)} =

{
2

3
,
1

2
,
8

13
,
28

47
,
400

671
,
65

109
,
28660

48059
,
2035540

3413339
,
1202644

2016683
, . . .

}
,

���-�$

U(0, 10) =
29486180

49444639
, |δ − U(0, 10)| < 1.0× 10−10.
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|δ den(U(0, n))− num(U(0, n))| < 1, n < 11,
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���0�
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�! "��$
���!� �0� � ��������
��������� �1� -
���-�!� �#$$

s =
∞∑
k=0

an x
n, s(n) =

n∑
k=0

an x
n.

��0 ε^
�1����$
 ����4�$

W (n, k) = 0, k < 0, W (n, 0) = s(n),

W (n, k + 1) =W (n+ 1, k − 1) + 1
W (n+ 1, k)−W (n, k)

, k ≥ 0,
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 ����-��! W (j, n) ��0 ��-���!� n 0��03��0 ����$�1
�����!$�+ �

W (j, 2n) = P [n+ j, n](s), j ≥ 0, n ∈ N0,

1�� P [n + j, n](s) ^ 7�� ��
1��
�� �
����
��� !+ ���� �
 ���
���!� 
������
��$
 �� "��$
����1� �0�
 s � ���� ����'���0 ������$�� ������� n + j �
n+ �
���+ -��

s− P [n+ j, n](s) = O(x2n+j+1).
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�#�� .�
������� �
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W (−1, 2n) = P [n− 1, n](s), n ∈ N,

���� ε^
�1����$ �
�� �
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��$������ �0� 1/s+ ���� ���
��!� � s+ �� ε^
�1����$ �
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���$���$ ε^
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W (0, 20)− δ ≈ 0.0000315214, W (1, 20)− δ ≈ −0.0000365738, . . .
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��������� s(n) = pn/qn ������06�� ������� �!-����$

a1 = p1, an =
pn−1 qn − pn qn−1

pn−1 qn−2 − pn−2 qn−1
, n > 1,

b1 = q1, bn = pn qn−2 − pn−2 qn
pn−1 qn−2 − pn−2 qn−1

, n > 1,

1�� p0 = 0 � q0 = 1� �̀1�


s(n) =
n

K
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ak
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δ =
2
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1

4−
6

7−
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9−
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11−
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13−
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15−
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17− . . . .
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70

19− . . . .
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�1����$ ��0 �!-������0 ln 2 �� �������'�$# �0�#

ln 2 =
∞∑
k=0

(−1)k

k + 1
. s(n) =

n∑
k=0

(−1)k

k + 1
.

��0 ��
1��
���!� �
��^
�������$
 �� s0(n) =W (0, 2n)+ n > 0+ ���#-�$

{s0(n)} =

{
7

10
,
52

75
,
1073

1548
,
14161

20430
,
37981

54795
,
192383

277550
,
4213309

6078520
,
522636731

754005420
, . . .

}
,

���-�$
|num(s0(10))− den(s0(10)) ln 2| < 0.000025,
|num(s0(40))− den(s0(40)) ln 2| < 0.35× 10−15, . . .

���� $! ���#-��� #�������� �����$���� � �$!��� ������� �
�+ -�� ��������
.�/ �!������� 2�� 4� ��������0 � ��#1�$ ��
1��
���!$ 
�������$
 �0$�

5��
�� 7�� ���
 -�� 7������$���
���!� "
��+ ��0 ���
�
�������
 �����
��1� ��������$� �!0���� �
����$������� � 7��� �0�
� �
 ���
���!� -�����




�

����� ��1� �
� �
����$������� ���
�#4��!+ �� ���
�
�������� $�4��+ �
���� ���+ ���#-��� � ��$�6�3 $
��$
��-����� ���#� ���

� �
���$ ��#-
� 7�� �
����$������� �#-'� �
��3�
3��0 � �����
1��
���
��� ��������
��������� s−1(n) =W (−1, 2n)� ��0 ��� ���#-�$

{s−1(n)} =

{
2

3
,
8

13
,
131

189
,
445

642
,
34997

50490
,
62307

62307
,
2359979

3404730
,
25786503

37202060
, . . .

}
, n > 0,

���-�$

|num(s−1(10))− den(s−1(10)) ln 2| < 0.25× 10−6,

|num(s−1(40))− den(s−1(40)) ln 2| < 0.69× 10−17, . . .

}���
0 ����� ��0 s−1(n) .����� ������
���
��0 � 7����
�������/ �$��� ���

ln 2 =
2

3−
1

9−
4

15−
3

7−
16

81−
25

11−
4

13−
49

135−
64

17−
9

19−
100

189−
121

23− . . . .

� �
����  ����� ����� ��0 n ∈ N

a3n+2 = −(3n+ 1)2, a3n+3 = −(3n+ 2)2, a3n+4 = −(n+ 1)2,
b3n+1 = (6n+ 1) , b3n+2 = (54n+ 27), b3n+3 = (6n+ 5),

���� ����� �
-
����1� ������
 ����! 
 ���#��#�
 ����� e��
���������-�
f
� �������$ 	�

u
$���$+ -�� 7�# 4�  ���#3 ����� .�
 ����3-����$ �
-
����1� �#��
/
$�4�� ���#-��� ��#1�$ �������$� (
��$����$ �0�

x

ln(1 + x)
= 1 +

1

2
x− 1

12
x2 +

1

24
x3 − 19

720
x4 +

3

160
x5 − 863

60480
x6 + . . . ,

�����!� 0��0���0 ���
��!$ � �0�# ��0 ��1
��"$
+ �����!� $! �
��$
����
�
��� g�
����
0 7�# "��$#�# � .�,/+ ���#-
�$ �!�
4���� ��0 ��6�1� -���

7��1� �0�
 ck � ��������
��������� s(n)

ck =
1

k!

k∑
j=0

S1(k, j)

j + 1
, s(n) =

n∑
k=0

ck.

��������
��������� s(n) #�����$ �� ε^
�1����$# �
� s1(n) = W (1, 2n)+ ����
����$�$ �
���
1��
���#3 �
��^
�������$
 �3� *� ��� �!-�������  �����
����� �#��$ ���������
�� ��������
��������� 1/s1(n)� ��7��$# ���#-�$ �#
4� ����� ��0 ln 2�

2�� $
���#�0 �� ���
�������� �
$ ��0 ��1�+ -���! #��
������ ��0��
$�4�# ln 2 � �����
���� 2����
 γ� g�1�
��� ����4����$# �!'�

1

ln 2
=

∞∑
k=0

ck, γ =
∞∑
k=1

(−1)k+1

k
ck,

���-�$ ����!� �� 7��� �0��� ��
������$���!�+ 
 ������ ^ ��
�������0��!��
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%��
 ���
������� ln 2+ ����-�$+ ����#�� �� ��!-���  ����� ����� ��0
ln(1 + x)� ���$������ qd^
�1����$
 .�$� c	,d/ .�����!� ��
�����
� � ������
$���!� _O>/ �
��  ���#3 �����

ln(1 + x) =
x

1+

x

2+

x

3+

4 x

4+

4 x

5+

9 x

6+

9 x

7+

16 x

8+

16 x

9+
. . . ,

�����
0 ���
�
�� 
�������$
 ����!$� �������
$�+ ���4�$� � ����!�#6���
�
��!� "
�� ��k0��0���0 ��$+ -��  ���
0 �����+ ���#-���
0 �� qd^
��

1����$#+ �
�� .-���� �
�/ ��
1��
���#3 � �
���
1��
���#3 �
��^
������
��$
 �� �������� ��������1� �0�
� 5��
�� ε^
�1����$ ��
-������� ���6�
� ���
�
�� ����'�$� ���$�4����0$��

�������$ � ����4���3 ρ^
�1����$
+ �����!� ��!-�� �������#3� ��0
#�������0 $�������!� ��������
����������+ ��0 �����!� ε^
�1����$ ��7"�
"�������� 5��
��+ �
� $! #����$+ ρ^
�1����$ �
���
�� � ��0 ��
�������
$���!� �0��� .#��$��
��� -�1� $! �� �
'�� � �����
�#��/�

�#��� �
�
 ��������
��������� s(n) .�
���$��+ -
���-�!� �#$$ �0�
 s/�
�!����$ ��������
��������� t(n)+ n ∈ N+ $������#36#3 �������� ������
$���� s(n) � ����$# ������#� 
̀��$ ���
��$+ �
��$
����
3��0 ����06���0
�0�! ��� ��������
���������� g-��
���0+ -�� ρ^
�1����$ �� ���$���$ �
�
����06�$�0 �0�
$+ ���0 ���
�
�������� 7��1� "
��
 $! �� �
'�� � �����
�
�#���

� ����-�� �� $����
 (�-
�����
 .�$� �
��� 	/ ��������
��������� t(n)
$�4�� ����$����0 � �#�3+ � �������-�����+ 
 �
�4� �!�� �� �����#36�� �
��#-
�+ ���� �
����� 0��0���0 ��������
��������� s(n)�

�������$ ��#$���#3 �
��� # T (n, k)+ n, k ∈ N0+ �� ���#�������$# �����
��'���3

T (n, k) = 0, k < 0, T (n, 0) = s(n),

T (n, k) = T (n+ 1, k − 2) +
t(n+ k)− t(n)

T (n+ 1, k − 1)− T (n, k − 1)
, k > 0,

&! ���������
�� �
���� �����
-���� ����$#+ -�� ρ^
�1����$+ �
 �
$�$
����+ ������-�� 
�1����$# `��� ���������0 ��������0 ������ �
 ���
���
��� 
�������$
 �� � ����  ����� ������ &! ���
�#4��� �
��!� "
�� 7$�
����-����+ �� ��+ �
�#$����0+ #4� �������� .�$� c	�d/�

�
���� �������� ρ^
�1����$
 ��
�# ���
�!�
�� �1� �������� � ����-�� ��
$����
 (�-
�����
� � ����-�� �� ��������1�+ ρ^
�1����$ ��-�� �
 ������
���
��������0� ��
-���� �
 ���
���!� "#�� �� .
 ��
-��+ � ������$�
���
�!�/�

5��
��+ � ����-�� �� ε^
�1����$
+ ρ^
�1����$ �� �
�� �
��^
��������
$
 �� �������� �0�
+ 
 ������ ���� �
 ���
���!� 
�������$
 ���




�

�
��$ ����6���� 
�1����$
 `��� ��0 ���������0 ����������#36��  ���
��� ������

�!����$ ��
-���� p ∈ {−1, 0, 1, 2, . . .}+ ������� 0��0���0 �
�
$����$�
�#��� s(n) = f(t(n + p))+ ���� ��������
��������� s(n) 0��0���0 ��
-���0�
$� "#�� �� f(x) � ��-�
� x = t(n+ p)+ n ∈ N� ����4�$

an = x− t(n+ p), n ≥ 1,
bn = T (p+ 1, n)− T (p+ 1, n− 2), n ≥ 0.

.��/

�̀1�
  ���
0 �����

fn(x) = b0 +
n

K
k=1

ak
bk

.�m/

�� ���������3 0��0���0 �
 ���
����� "#�� ��� � fn(x) = f(x) � #��
�
��������0 �� x ∈ {t(p+ 1), t(p+ 2), . . . , t(p+ n)}�


̀��$ ���
��$+  ���
0 ����� fn(x) ���!�
���0 � ��#-
�+ ���� f(x) 0��0�
���0 �
 ���
����� "#�� ����

�#��� ������ limn→∞ t(n) = t∗+ 1�� t∗ ���
 ����-��� �̀1�
 �������-�
0
 ���
0 ����� f∞(t∗) �������0 .����6� 1����0/ � ��
-���3 f(t∗)� *
���$��+
��� t(n) → 0 ��0 �!-������0 an � bn ��
�# $�4�� ����4��� x = 0+ � ����

`�
�� ����� ρ^
�1����$ �������#���0 ��� t(n) → ∞+ ���-�$ $���������
5�!-�� ���#� t(n) = n .-�� �!�� � ���1��
����$ ρ^
�1����$� ����
 .�$�
c		d//� 
̀� 4� �
� � ��0 ε^
�1����$
+ �!-���03��0 ��
1��
���!� ��������
�
��������� T (j, 2n)+ �� ����� j ≥ 0� ����-��! T (j, n) ��0 ��-���!� n �
�4�
0��03��0 ����$�1
�����!$��

��
4�$ �
 7����
��������� �
���1� 
�1����$
 
�1����$# `���� &�4��
���������+ -��

T (p+ 1, 2n) = lim
x→∞ f2n(x), n ∈ N.

5��
�� 
�1����$ `��� 0��0���0 ��
-������� ����� ��6�$+ �
� �
� t(n)
$�4�� ����$����0 � �3��$# ������#+ ���-�$  ���!� ����� f2n+1(x) �
�4�
�$�3� �$!���

���$���$ ρ^
�1����$ ��0 �!-������0 ζ(2) �� �0�#

ζ(2) =
∞∑
k=1

1

k2
, s(n) =

n∑
k=1

1

k2
,

�����!�+ �
� ��������+ �������0 �-��� $������� .b
������
0 ������$
/�
����$�$ t(n) = n� �̀1�
 ��0 s0(n) = T (0, 2n) ���#-�$

{s0(n)} =

{
5

3
,
125

76
,
8705

5292
,
10975

6672
,
13327519

8102160
,
124308457

75570480
,
19427741063

11810650320
, . . .

}
,

� ���0��
$�
|s0(10))− ζ(2)| < 0.44× 10−20,

|s0(40))− ζ(2)| < 0.90× 10−83, . . .




�

���-�$
|num(s0(10))− den(s0(10))ζ(2)| < 0.11× 10−8,

|num(s0(40))− den(s0(40))ζ(2)| < 0.33× 10−17, . . . ,

���� $! ���#-��� �
�4� #�������� �����$���� � �$!��� �������+ ���� ������
��� .�/ �!������� 2�� 4� ��������0 � ��#1�$ ��
1��
���!$ 
�������$
 ��
0$+ ���0+ �
���$��+ ��������
��������� s1(n) = T (1, 2n) �#-'� ������4
��
ζ(2) -�������+ �� �#4� � �$!��� ��������

�
��!� 
�1����$ �
�4� ��$�������#�� -��������������� � �!���# �����
$�1
������� ��������
��������� t(n)+ -�� ����� �
 ����#36�$ ���$����

���$���$ ρ^
�1����$ ��0 �!-������0 ζ(3) �� �0�#

ζ(3) =
∞∑
k=1

1

k3
, s(n) =

n∑
k=1

1

k3
.�n/

� ��� 4� ��������
���������3 t(n) = n� �̀1�
 ���#-�$ ���$���� �
��� 4�
���#���
� #�������0 �����$���� -������� .���� ���$���� � ��$� 4� ���0��
�
$�/+ -�� � ��0 ζ(2)+ �� �����1���!� � �$!��� ��������

����$�$ ������ t(n) = n (n+ 1)� �̀1�
 ��0 s0(n) = T (0, 2n) ���#-�$

{s0(n)} =

{
6

5
,
351

292
,
62531

52020
,
11424695

9504288
,
35441662103

29484180000
,
963652602684713

801669704780000
, . . .

}
,

� ���0��
$�
|s0(10))− ζ(3)| < 0.82× 10−30,

|s0(40))− ζ(3)| < 0.12× 10−121, . . .

���-�$
|num(s0(10))− den(s0(10))ζ(3)| < 0.30× 10−7,
|num(s0(40))− den(s0(40))ζ(3)| < 0.90× 10−18, . . . ,

���� $! 7������$���
���� #��
������ ���
 ���
������� ζ(2) � ζ(3) � ��$��
6�3 ��
���-����1� 
�1����$
 #�������0 �����$�����

u
$���$+ -�� ���� ��0�� ��������
��������� t(n) = n2+ �����
0 
��$����
��-���� ��-�� ������-�
 ����!�#6��+ �� ���#-�$ ���#���
� #�������0 ��0
ζ(3) ��
-������� �#4�+ -�$ ��0 t(n) = n � -�������$ �$!���+ � �����'����
�����1���!� � �$!��� �������� *
���$��+

|s0(10))− ζ(3)| < 0.17×10−6, num(s0(10))−den(s0(10))ζ(3) ≈ −0.16×10153.
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�
� ��������
��� � 7��$ �
��
�������

��0 ����1�1� ���
�
�������
 ���
 ���
������� ζ(2) � ζ(3) ���������!�
���#���
���+ �
�#$����0+ ������
��-��� *�������$� �
� $���$#$ #��
������
�
����$������� � ��������
��������0� �
 ���
���!� ������4�����
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� � �
���+ �
��� �
����$������� �#-'� ����! �  ����� �����+ ���#-���
��� �� ��������
��������� �
 ���
���!� ������4����� 5��
�� � ����-��
�� ε^
�1����$
 ��0 ρ^
�1����$
 .���� 
�1����$
 `���/ ��� �#4�! �������
���
��  ���#3 ����� 2����
� &�4�� ��
�# �������  ���#3 ����� `��� ��
"��$#�
$ .��/�

�
��$ ���$�� �
��� ����� ��0 �����
��! )���� ζ(3)� ��0 ζ(2) ���#���
�
�! 
�
��1�-�!+ � $! �� ��#��
�$�

��0 ��������
��������� .�n/ ����$�$ �
�
$��� p = 0 � #��! ��������0�
 �� t(n) = 1/n/(n + 1)� u
$���$+ -�� �!��� t(n) = 1/n2 ����� �
�4� �!�
�! ��
��� ��#�
-�!$� ��������# t(n) → 0+ �� � .��/ ��
�# $�4�� ����4���
x = 0� �̀1�
 ��0 fn(0) � .�m/ ���#-�$ .����� ������
���
��0 7����
�������
���/

ζ(3) = 1 +
3

16−
8

7−
10

176−
162

19−
252

936−
1440

37−
1944

3008−
7000

61−
8800

7400− . . . ,

1�� a1 = 3+ a2 = −8+ �

an =

⎧⎨
⎩ −(n− 1)3 (n+ 2) (n+ 1)2/64, n odd

−(n− 1) (n+ 2)3 n2/64, n even,


 �
�4� b0 = 1+ b1 = 16+ �

bn =

⎧⎨
⎩ (3n2 + 6n− 1) (n+ 1)2/4, n odd
(3n2 + 6n+ 4)/4, n even.

}���
0 ����� )���� �!������0 1��
��� ����� ��������!$ �#��$ .�$� c	
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*
'
 ����� ���
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�������$
 ����!$� �������
$�+ �����!� ���������
#��#�
3� �
���!$ #  ����� ����� )����+ ���
�� ������ ����
��-�!$� ��0
#��
�������0 ���
 ���
������� ζ(3)� %$��$

|f10(0)− ζ(3)| < 0.60× 10−16,
|f40(0)− ζ(3)| < 0.64× 10−62, . . .

���-�$
|num(f10(0))− den(f10(0))ζ(3)| < 0.24× 10−4,
|num(f40(0))− den(f40(0))ζ(3)| < 0.17× 10−10, . . . .
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2

1

2

3

4
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4
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6
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7

8

7

8

9
. . . ,
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1�� ��6�� -��� cn �$��� ���

cn =

⎧⎨
⎩ (n+ 1)/n, n odd
n/(n+ 1), n even.

u
$���$+ -�� $! $�1�� �! ���
��� ����$��4��� �������� -���! 7��1�
�����������0 � ���#-��� $�������#3 ��������
��������� .� �����!� ���
�#���
�/� *� $! ����$�$ �� �����#36#3 ��������
��������� ������������
cn � #��
$� ��������0 �� t(n) = (−1)n/(n+1)� �!��� t(n) = (−1)n/n �����
�!� �! ��
��� ��#�
-�!$+ -�� 
������ �����#�
 �� ����#���

�!����$ �
�
$��� p = 0 � ����4�$ x = 0 � .��/� �̀1�
 ��0 fn(0) � .�m/
���#-�$ .����� ������
���
��0 7����
���������/

π

2
= 2− 2

5−
2

7−
9

9−
9

11−
20

13−
20

15−
35

17−
35

19−
54

21−
54

23− . . . ,

1�� �
����$������� � -
���!� ��
$��
���0� �-�����
+ 
 ��0 -���������

{2, 9, 20, 35, 54, . . .} = {(n+ 1) (2n− 1), n ∈ N}.
�
��
0  ���
0 ����� ��'� ��$��1� �� ���01��
�� �� �������0 �������

.�/� %$��$ ∣∣∣f10(0)− π
2

∣∣∣ < 0.23× 10−8,∣∣∣f20(0)− π
2

∣∣∣ < 0.44× 10−16, . . .

���-�$ ∣∣∣num(f10(0))− den(f10(0))
π
2

∣∣∣ ≈ 0.070606,∣∣∣num(f20(0))− den(f20(0))
π
2

∣∣∣ ≈ 0.031318, . . . .

*
���� + ���$���$ 
�1����$ `��� � #�������3 ��������
��������� .o/ �
��$ 4� ���$���$ t(n) = 1/n/(n+1)� �̀1�
 ���#-�$+ -��  ���!� ����� f10(0)
�
3� �#-'#3 � ���#+ -�$ .p/+ ��0 p = 0, 1, 2, . . .� ���-�$ ���0��� ��-�����
#����-��
���0 �$���� � p� 5��
�� ���#-���!� ����� �$�3� �-��� ����'#3
����#+ �
� -�� $���� (�-
�����
 ����� ����� ������-��������

� �
��3-���� ��$���$+ -�� ������
�����!� �
$� 
�1����$! ����$
 ����
��� ��
���#�$! � �����$���!� _O> �$���� ��
1��
�0 �� ���#����������

� �������!� ��
�!� #-�����
� �� -�������$# 
�
���# �����-
3��0 #�����
4����0+ -�� ���#���� � ���1�
$$
� ��
���#3��0 � ����  ������ ��0 ������
$���!� _O> 7��+ ����-��+ �� �
��

(��#���� � _O> ��
���#3��0 � ���� ��#������� �
��� + �����!� �����$

������ � ������0�� �� $��� �
��������� 
̀� -�� �������
���3 ��� �$!��

����������
�� �
$0�� � �
$�$# ��1
�����!�
�� �!-������0� &�4�� ������
���
�����0 � �#4��� ����-����



�	

������ ���	
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c�d �,-./ 012 34��.5�" 61712 8�54.� 91 _F=U?;V?=B? OBB?I?;:C<F= FE OIC?;=:C<=V
>?;<?D ~~ �ZH?;<G?=C:I P:CL?G:C<BD+ 8� p� �� �� H� 	^��� .�,,,/�

c�d :,�;.4/ <12 :�4�.= 912 >45./",-/ 71 �ZH?;<G?=C:C<F= <= P:CL?G:C<BDs
BFGHAC:C<F=:I H:CLD CF K<DBFU?;J� O M 9?C?;D+ �:C<BY� .�,,
/�

c	d :�.?4/"@4 �1 _F=U?;V?=B? :BB?I?;:C<F= KA;<=V CL? �,CL B?=CA;J ~~ �FA;=:I FE
_FGHAC:C<F=:I :=K OHHI<?K P:CL?G:C<BD+ 8� ���� H� �^��� .�,,,/�

c
d A�/ B.� C,,�D./ E1 O H;FFE CL:C �AI?; G<DD?K. . . OH?;J�D H;FFE FE CL?
<;;:C<F=:I<CJ FE ζ(3) ~~ SL? G:CL?G:C<B:I N=C?II<V?=B?;+ \?;I<=� 8� �� H� �p�^
�,	� .�pno/�

c�d EFG.�= 71 N;;:C<F=:I<C�? K? ζ(2) ?C ζ(3) ~~ ODC�?;<D@A?+ 8� m�+ H� ��^�	� .�pnp/�

cmd :.����" H12 �,-./ 01 �AG?;<B:I OIVF;<CLGD EF; �AGT?; SL?F;J�
P:CL?G:C<B:I >A;U?JD :=K PF=FV;:HLD+ 8� ��
� OG?;� P:CL� >FB� .�,��/�

cnd 64/ - I1 71 P:CL?G:C<B:I _F=DC:=CD� �=BJBI� FE P:CL� :=K <CD O:HHI� p
+
_:GT;<KV? �=<U� 9;?DD� .�,,	/�

cod J./45.� K1<1 �F=I<=?:; D?@A?=B? C;:=DEF;G:C<F=D EF; CL? :BB?I?;:C<F= FE
BF=U?;V?=B? :=K CL? DAGG:C<F= FE K<U?;V?=C D?;<?D ~~ _FGHAC?; 9LJD<BD
Q?HF;C� �F;CL�XFII:=K� OGDC?;K:G� 8� �,� HH� �op^	n�� .�pop/�

cpd J./45.� K1<1 �F=I<=?:; D?@A?=B? C;:=DEF;G:C<F=D EF; CL? :BB?I?;:C<F=
FE BF=U?;V?=B? :=K CL? DAGG:C<F= FE K<U?;V?=C D?;<?D ~~
c:;�<UsG:CL~,	,m	,�U�d .�,,	/� .LCCHs~~:;�<U�F;V~:TD~G:CL~,	,m	,�U�/�

c�,d :�!/ 31 �<= >:C� �AT?; N;;:C<F=:I<C�:C ~~ O;Y<U EF; P:CL?G:C<Y FV
�:CA;U<K?=DY:T .M;<DC<:=<:/+ 8� 	�� �� 	� H� 	^m� .�p�,/�

c��d C.��,/ L1 N;;:�<F=:I�:LI?=� ��FDBL?=D �?L;T�ABL?;?<� \?;I<=+ �?<H�<V� .�p��/�

c��d M.5./B�. E1N1 ��I?G?=CD K? ��?FG�?C;<?� .�?G� ?K/� _L?� �?;G<= �<KFC 9�?;?
?C �<ID� 9:;<D� .�o�	/�

c�	d C.��,/ L1 �<? �?L;? UF= K?= M?CC?=T;�ABL?=� S?AT=?;� \?;I<=� .�p�	/�

c�
d :�.?4/"@4 �1 X<DCF;J FE _F=C<=A?K �;:BC<F=D :=K 9:K�? OHH;FZ<G:=CD�
>H;<=V?; >?;<?D <= _FGHAC:C<F=:I P:CL?G:C<BD� 8� ��� >H;<=V?;�8?;I:V�
\?;I<=+ ?CB� .�pp�/�



��

c��d O.A4��. K101 NC?;:C<U? <=C?;HFI:C<F= ~~ �� N=K<:= P:CL� >FB� 8� �,� HH� on^��,
.�p	
/�

c�md H/,FF H1 SL?F;J :=K :HHI<B:C<F=D FE <=[=<C? D?;<?D� \I:BY<? � >F=� �F=KF=�
.�p
m/�

c�nd P���� P1Q1 z
�����
����� ������
���
��� �������!� ��
���-��
���� ��$���
����!� ��������
���������� ~~ �� �!-���� $
��$� � $
�
��$� "��� �̀�p� � m� g� �n
n��nn,� .�,�o/�

c�od O4.�"./ O1 �<? �:GG:EA=YC<F=� S?AT=?;+ �?<H�<V+ \?;I<=� .�p,m/ { _L?ID?:+
�?R �F;Y+ .�pm�/�

c�pd J�D",/ >1 O1 SL? C;:=DEF;G:C<F= FE := :DJGHCFC<B D?;<?D <=CF : BF=U?;V?=C
D?;<?D FE <=U?;D? E:BCF;<:ID ~~ Q?=K� _<;B� P:C� 9:I?;GF� 8� 	
� HH� 
�^oo�
.�p��/�

c�,d ID4.�DR." S1<1 Q?BL?;BL?D DA; I?D E;:BC<F=D BF=C<=A?D ~~ O==:I?D K? I: E:BAIC?
K?D DB<?=B?D K? SFAIFAD? �;? D?;<?� 8� o� �� 
� HH� ��^����� .�op
/ � m? D?;<?�
8� 
� �� 
� HH� O�^O
n� .�op�/�

c��d K!�.� M1 �? D?;<?TAD K<U?;V?=C<TAD ~~ �FU< _FGG?=C� OB:K� >B<�
9?C;FHFI<C:=:?� 8� �+ HH� �,�^�	n� .�n�
~��/� ;?H;<=Cs WH?;: FG=<:� >?;�
N� 8� �
� S?AT=?;+ �?<H�<V� HH� �o�^m�n� .�p��/�

c��d >IF:=? F=I<=? ?=BJBIFH?K<: FE <=C?V?; D?@A?=B?D� .LCCHs~~F?<D�F;V/�

c�	d >,!�B,/ T12 I.��- C1 _FII?BC<F= FE EF;GAI:? EF; �AI?;�D BF=DC:=C γ ~~
.=AGT?;D�BFGHAC:C<F=�E;??�E;~_F=DC:=CD~BF=DC:=CD�LCGI/� .�,,o/�

c�
d H,;��./@, 31 9;FH?;C<?D :=K OHHI<B:C<F=D FE CL? Q?B<H;FB:I �FV:;<CLG
�AGT?;D ~~ OBC: OHHI� P:CL� 8� �,p+ HH� 
�	^
	n� .�,�,/�

c��d �,U.= N1J12 I,/B,; <1 Q?TACC:I FE MFR:I?=YF�D H:H?; :D BF=B?;=D
CL? <;;:C<F=:I<CJ FE �AI?;�D BF=DC:=C ~~ c:;�<Us��,��	,p	U�d .�,��/�
.LCCHs~~:;Z<U�F;V~:TD~��,��	,p	U�/�

c�md EFD.@��.A E1V1 W= I<=?:; EF;GD BF=C:<=<=V CL? �AI?; BF=DC:=C ~~
c:;�<Us,p,���nmoU�d .�,,p/� .LCCHs~~:;Z<U�F;V~:TD~,p,���nmoU�/�

c�nd W�������& X1*1 �����4����  ���!� ������ � ������
$ ������4����1�

�
���
� a��� ���
�� ���������������-����� ���� &����
� .�p�m/�

c�od �!=D E12 .D ���1 X:=KTFFY FE _F=C<=A?K �;:BC<F=D EF; >H?B<:I �A=BC<F=D�
>H;<=V?;� .�,,o/�



�


c�pd C�."" J1 012 .D ���1 �AG?;<B:I Q?B<H?D� SL? O;C FE >B<?=C<[B _FGHAC<=V+
	;K ?K� _:GT;<KV? �=<U?;D<CJ 9;?DD� .�,,n/�

c	,d J4�F <1 >?@A?=B? C;:=DEF;G:C<F=D :=K CL?<; :HHI<B:C<F=D� OB:K?G<B 9;?DD�
�?R��F;Y� ?CB� .�po�/�

c	�d J=// C1 W= CL? _F=U?;V?=B? :=K >C:T<I<CJ FE CL? �HD<IF= OIVF;<CLG ~~
>NOP �FA;=:I F= �AG?;<B:I O=:IJD<D� 8� 	� �� �� HH� p�^��� .�pmm/�

c	�d :�.?4/"@4 �12 O,���/ 61E12 7.B4A,(8�5�4� N1 SL? �?V:BJ FE
9?C?; xJ== ~~ P:CL?G:C<BD� 8� p� �� ��
,� HH� �^
�� .�,��/�
.LCCHDs~~RRR�GKH<�BFG~yFA;=:I~G:CL?G:C<BD/�

c		d J=// C1 W= : 9;FB;ADC?:= C?BL=<@A? EF; CL? =AG?;<B:I C;:=DEF;G:C<F= FE
DIFRIJ BF=U?;V?=C D?@A?=B?D :=K D?;<?D ~~ 9;FB� _:GT;<KV? 9L<I� >FB� 8� ���
HH� mm	^mn�� .�p�m/�

c	
d �,-./ 01 �?GF=DC;:C<F= K? I�<;;:C<F=:I<C? K? ζ(3) .K�:H;?D Q� OH?;J/ ~~
>?G<=:<;? K? CL?F;<? K?D =FGT;?D K? �;?=FTI?+ 8� m� ?ZH��� m� HH� �^p�
.�pnn��pno/�
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